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For Exercises 8-10, use the box-and-whisker plot shown.

Il
2

In which yéa:: was the corn yield more Corn Yield by State
varied? Explain. {bushels psr acre)

1999 -—+ '+ _}—0

How does the median yield in 2003
. . 4 T 9 : i . ‘- _}_ l ! l |
compare with the median yield in 19997 BABAA 00 110 190 150 40 150 160 170

Sowrce: 1L.S. Census Biaau

Write a few sentenceé fha!: compare the 1999 vields with the 2003 yields.

For Exzercises 5-7 use the box-and-whisker plot shown

How tall is the highest peak ' Mojor Pesks of the Hindu Kush
. fselgint in foet)

of the Hindu Kush? o i "
What is the median height of the L I—;{—'_—_,'}_—,—‘ ‘

Il m— T T T T T T ]
major pegks? 18000 26,000 24,000 22,000 23000 24,000 25,006 26000
SIRErTe; wWWw.paakeara.com

Write s sentence degecribing what the

& box-and-whisker plot tells about the major peaks of the Hindu Kush,

RECREATION For Exercises 5-7, use the information

in the back-to-back stem-nnd-leaf plot . o
shown at the right, Total 1.5, Spending tn Personal Recruaiton (by Cataguiy)
- | - g "
2 The category with the lowest total expenditure ?1 gg AR 2002
© in 1992 was motion pictures. What was its 87201102 8
total? 72122
.. . _ . - 4 0j3;467
£ What is the median total xecreational spending Y
for 18927 For 20027 5i6
' i16]8
- 7
a. Compare the total spendiag on recreation in gi 4
1592 with that in 2002, 9
o 71 2= $27 bilkion 215 = $35 billion
use the histogram at th= right. R Flight Acrivals
Dhiring which time period dld the 4% 4
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Books Read by Students over the summer
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How mony data points arerthers? ...
What is the medion of the 'd_am? e i

ji. Whatis the mode of fhe-'dcka?
1D Whatis the rangie of the dato?

,

it6. What is Keith's jotal weekly budget? .

| - " Keith’s Weekly Budget
(<. What percentage of Keith's budget does he spend | ' -

i on transporiation? How many degrees

17 of the circle ore used to represent this percentage?

| $30

1 %20 _/ Entorkaimment -

e R

{6y, How many degrees of the cirdle ore used to repmsenf

enfericinment?

—— . ‘ ' - Transporfation '

Create a stem-and-leaf plot for each set of data. -

- *

q 18, 17, Ii, 24, 17, 33,21, 22, I4, 31, 70 122, 120 135, 130, 148, 131, 42, 122,

30, 20,.16, 35 | 133, 143, 135, 132
( World Population T ( World Population '
i Graph A : Graph B
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Sonres: wway, pirs. g Source: www.phe o

Fur Exercises  , refer to the graphs below.

21 What was the world’s populatmn in 12997

27 Which graph gives the impression that the world’s population skyrocketed between 1800
apd 19257 Explain.

27 Are the vertical axis and the horizontal avis in either graph misleading? Explain. ’

~




5 ’
% cr~anm Thizguph shaws the favorita pets 7
i3 i il -1 ¢ Foks aod chikdvsn who were "
12 Adiis B | surveyed. ’ 4 W f 5,
1 = g5 ri '—'E 717 TRy T
Ig. . Y e . - / 1 m-}:— WLP—
© g E 3 e ﬁ [ ,.r’ ’\"
P 2 £ M
D4
i | %ﬂ [' -7
3
3. 3]
¥ i 2 3 %' 5 & 7 &8 ¢ i
' Gome’ -

Thiz shows tha pitchi «d for the fist 10 baseball yames. As shown
in ﬂfmkﬁ'a ;E:mﬁg; ;?l:x?s wsed For e:ch avert b«inggrq;m}a&

Use the fine groph dhove to unswar the following auestiun:.

fs@ she betr groph dlive 1t angwar each question.

% How many pesple responded fo the survey?

5 Hew mony adulls rasponded® How many chitdren?
% How many adults chass Bahd

5, How many childran choss cait

-, Hew many mote edybs than chifdres prefemdd cats

adulis: _
*

e

¢k - How mony jolcdl Yits were given up?

children: _ b_ What wes the total rwaber of wqfks? .

(;L prmnygmmshacirmwdks?_ .

Which game had the sasne number of sirikeovts onid hits?

How many mors children chase dog than bird?
. Which pet wes shosen by the meet aduits?
Which pet {other thao nonal wes chasen by the fewest childraa?
i+ How muny fotcl peapia vhese bird?

£. Which gamels} hod & strilmouts¥ -
C T which gomels} did tha pitcher give up the fowast hir?
‘3 Qver the carse of 10 games, were thers more walis or pore sisikeouts?

- V. How many more hits were thers in gqms 5 than in gome 'ﬁ!

Ch“"*e an aPPrﬂpmate style of display for each daia set. Justify your choioe

/‘\ mont! 11y pnce of apples over a two yes pmod

5 resulta of a m)ll of ‘-‘O qirudenta i‘a\ronte type of candy

% the income of the middle 50% of 1.8, households . -

For Exercisese¥ ) refer to the graphs below.,

U.S. Consumption of Hydroeleviric

U.S. Consumptivn of Hydroelectric
Powwer, 1960-2002 Graph A

Powet, 15602802 Graph B
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41 What was the U.S, consumption of hydroelectric power in 19907

Which graph gives the impression that the use of hydroelectric power in the United

: j States haswsperienced many dips as well as rises between 1975 and 20027

What causes the grapha to differ in their appearance?




Number of Héurs Spent
Doing Homework Per Week .

-
< =1 In this histogram, each bor reprasents S
an interval of 5 hours. The intervals L
are equal. The Bars are congecutive,

or in sequence ane citer the other.

T

t~-8 &0 YTi-l§ 16~20 21-25
Hours Spent Studying Per Week

MNumber of Students
—_ 3 T L

s *

Use the histogram obove to answer sach question.

71t How many siudenis were sur\feyed?

26 Which iwo infervals (bcsrsj were selected o
by an squal number of students® _ and —

Sz How mony students choss each of those intervals?

27 Whitch interval was selecied by the most students?

25 How many more students de 16-20 hours of homework
* tan -8 hours? '

For Exervises 12-15 use the histogram at the right.

29 What size are the intervals? . Threatened Spedies of .
) Mammals in Europe S

& How mauy ceuntries have nine or fewer threatened | 20—
' species?

3{. Which interval contains the median number of
endangered rpocies?

%y Can yvou tell from the histogram whethier any of the
countries have zevo threatened species? Explain.

Number of Countrief;

04 58 10-14 i5-19 20-24
Humber of Thraatened Species

Source: wehw Tedist o

Candace polied ber cousins about their height. She wrote down their answers in inches. Thess are
the results: 70; 68, 60, 63,73, 86, 71, 66. ' :

3%, View many cousins did Candace poll? ________ 'What is the mode of the dote®
344, What is the medion height? . What is the mean height®

(Y

255, .What is the range of the heights? __
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